2.6 Question
(—16 -x + 81-x)
16-x2-y + 16-x-y3 + 8-y

w = (%)=

—16-x° + 81-x
w = ()= 1.1
16'x2-y + 16~x-y3 + 8-y

solve(yp(x,y) =0)
9 9
r=gor=r) fr= = Fos) =0=n) (12)

2
eqn == 8- (x2 +y2) =81-(x2 —yz)
2
eqn =8 (x> +)7) =81 x" — 81,7 (1.3)
myneweqn = implicitdiff (eqn, y, x)
x(16x2+ l6y2— 81)

myneweqn = — 5 > (1.4)
y (16 x"+ 16" + 81)
solve(mynewegn =0)
J —16)° +81 J —16)° +81
{x=0,y=y}, [F i Y=Y ,[F— i Y=Y (1.5)
subs(x=0, eqn)
8y '=—81)" (1.6)
solve(%, y)
91 91
O’Tﬁ’_Tﬁ a.7
S
neweqn := subs| x = o ean
81\ , 6561
neweqn-—8(y+l6)— 81y + 16 (1.8)

solve(neweqn, y)

w22y ‘“ _24+ﬁ (1.9)

6561 5, 6561
5 162x = (1.10)

solve( %, x)

93 93
-~ =g g (1.11)



2.7 #1 Clobbered

_ 1 4 6 3
J=1 100 * 100 *

solve(fp(t)=0)
Jop = D(/p)

solve( fpp(t) =0)

with(plots) :

myextremes ‘= pointplot(

6,0,0,0
ﬁa:zz»—»zls-ﬁ—;) 7
2,0,0
fop ==t'—>235-t2—295-t
0,3

E’

@2.1)

2.2)

2.3)

2.4)

2.5)

(2.6)

[0,£(0)], [ ) f( % ) ] [3,7(3) ]}, symbol = solidcircle, symbolsize= 15)
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myfplot := plot(f(t),t=—3.3.7,y=—2..1, thickness =3, color = black)



_2_
myfppplot := plot( fpp(t), t=—3.3..7,y=—2..1, thickness =3, color = red)



y —17

_2_
myfpplot := plot( fp(t), t=—3.3..7,y=—2..1, thickness =2, color = blue)



— 2 .
display ([ myfplot, myfppplot, myfpplot, myextremes|)







